== A
N & o & AF & H Al A
20198 &= =0l & LB A IIEISESH sS29
AN SSEIM
Mo JIEFEY HES L OF BN J|HnE
@2 dsd AR 2= (&)
= (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SSYAM 19,267,841 13,593,525 5,674,316
= 8,995,764
s 1,800,000
J| 2,617,105
< 5,854,972
IS EE HEs & oW FAE IS 19,232,936 13,559,565 5,673,371
= 8,995,764
s 1,800,000
J| 2,617,105
< 5,820,067
t=sd MAR 2= 2,400,000 0 2,400,000
s 1,200,000
< 1,200,000
Breis2 XMy 218 X (22) 2,400,000 0 2,400,000
s 1,200,000
< 1,200,000
401 A& BIZ 201 8I 2,400,000 0 2,400,000
s 1,200,000
< 1,200,000
01 A& HI 2,400,000 0 2,400,000
ottds= KJHH 28 XA 2,400,000
as 1,200,000
= 1,200,000
s =& 14,400,535 11,509,689 2,890,846
= 8,926,127
| 2,084,425
< 3,389,983
JIEEY oy & 2AAE 1Y S NA(=2) 7,148,031 5,862,540 1,285,491
= 6,161,527
< 986,504
308 XXX S0 A 7,148,031 5,862,540 1,285,491
= 6,161,527
< 986,504
01 AXSGHBLEES 7,148,031 5,862,540 1,285,491
ONETY oY L AX AE 1Y S X 7,148,031
= 6,161,527
< 986,504
gt xier 2 Y ZAEH S XA (=21) 92,500 47,500 45,000
= 85,000
< 7,500
403 XSS A0l & 92,500 47,500 45,000
= 85,000
= 7,500
01 XM A2 X 92,500 47,500 45,000
oggxte, A5EH S XN& 92,500
= 85,000




AN SSEIM
Mo JIEFEY HES L OF BN J|HnE
el Jbsge X7 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 7,500
grexte ¥ 2Y 2AEH S NI (HELASEL)( 1,143,480 948,480 195,000
=1)
= 879,600
< 263,880
403 MHXISHE X201 E 1,143,480 948,480 195,000
2 879,600
< 263,880
01 X SHHA2E = 1,143,480 948,480 195,000
OHBASEA &X 1,143,480
= 879,600
< 263,880
SEMxEL 29 2 ASHIE XNE(22) 1,040,000 0 1,040,000
= 800,000
< 240,000
308 A EHHSOIA 1,040,000 0 1,040,000
= 800,000
< 240,000
01 HXNHHNBHELS 1,040,000 0 1,040,000
OsH=z=L 29 2 ASHE N2 1,040,000
= 800,000
< 240,000
tsedgdEse gAXN old X (=2) 1,223,800 901,000 322,800
J| 734,280
< 489,520
307 glz2tol & 1,223,800 901,000 322,800
J| 734,280
< 489,520
02 It M AHEE 1,223,800 901,000 322,800
OIN=L I A 1| 1,223,800
J| 734,280
< 489,520
SSsEHY 22 (=21) 1,431,174 1,138,669 292,505
J| 1,192,645
< 238,529
308 XtXIEHHSOIA 1,431,174 1,138,669 292,505
J| 1,192,645
< 238,529
01 X HHILEES 1,431,174 1,138,669 292,505
oO3s¢LHHE 2 1,431,174
J| 1,192,645
< 238,529
e B&43(=22) 1,125,000 2,137,500 A 1,012,500
= 1,000,000
< 125,000
308 X EHSOIA 1,125,000 2,137,500 A 1,012,500




2N ST
Mo JIEFEY HES L OF BN J|HnE
el Jbsge X7 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,000,000
= 125,000
01 IXNHHBNEES 1,125,000 2,137,500 A 1,012,500
O&X= 2432 1,125,000
= 1,000,000
< 125,000
IIEdEE HgEs 23 N 96,000 120,000 224,000
308 XtXIEHHSOIA 96,000 120,000 224,000
01 AXHHILEES 96,000 120,000 A 24,000
OJ=dgY HEZEs 2X3 X& 96,000
N 2= R E MHIA X& 114,000 57,000 57,000
308 MtXIEHMSOIH 114,000 57,000 57,000
01 HXNHHBHEELS 114,000 57,000 57,000
OFM ==t IIET=Z HMHlA XA 114,000
HS2E2d WA N2 60,000 60,000 0
308 XX EHH SOl 60,000 60,000 0
01 HIXNHHNBMNEES 60,000 60,000 0
oOHzZ=E=2Y il XA 60,000
ZAGHLE S A= XA 10,500 18,000 A7,500
308 XXM SO A 10,500 7,000 3,500
01 IXNHHBANEES 10,500 7,000 3,500
oZdYE HYEE A=t X 10,500
st LA As4F N 35,000 35,000 0
308 XtXIEHH SOl A 35,000 35,000 0
01 AXHHILEES 35,000 35,000 0
OsJt XA A=245F X 35,000
g9 AMd NE 47,750 36,000 11,750
202 O4dl 8,000 0 8,000
01 = LH 4 Hi 8,000 0 8,000
OTRY & gAY =3 8.000
403 MtXSHHE =01 & 39,750 36,000 3,750
01 XM A2EE 39,750 36,000 3,750
OxXEA A=) X 39,750
SOHA SAtY ol & 8,000 10,000 A 2,000
308 XtXIEHH SOl A 8,000 10,000 A 2,000
01 AXHHILEES 8,000 10,000 A 2,000
OSO0HX ZAHE ol g 8,000
A ASAE 2Y X2 108,000 100,000 8,000




2N
X ZH -
L= B

el

ss2al
IETEY IS L OF SNE |
s Fa

<
4
Hh

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 o4 | 8,000 0 8,000
01 2L I 8,000 0 8,000
OJsgd 4R =X oyl 8,000
308 XHXIGHH SO0l & 100,000 100,000 0
01 IXHHIMNEXS 100,000 100,000 0
oxXced AsAld 29 & 100,000
CCTV € gtdolmpt A NK(=21D) 189,000 0 189,000
J| 157,500
o=} 31,500
403 XX S M S X201 & 189,000 0 189,000
J| 157,500
= 31,500
01 XIS A2E X 189,000 0 189,000
OCCTV & Y¢HolzZet &X 63,000
J| 52,500
& 10,500
OAAAE AX 126,000
J| 105,000
o= 21,000
=49 =& I& 208,800 0 208,800
308 AMXISHHMSOIA 208,800 0 208,800
01 IXHHINMNEXZ 208,800 0 208,800
029 =% & 208,800
USE MEH - ASAE WA 135,000 0 135,000
403 XX SRS K20 & 135,000 0 135,000
01 AIXSHHMA2E X 135,000 0 135,000
OUZSE HA- - ASAE HEXHA 135,000
A2 sI s JAH 25 73,500 0 73,500
403 XX SHHS K201 & 73,500 0 73,500
01 XIS A2 X 73,500 0 73,500
OAAR2 I NEYsE dHA 2= 73,500
2l 28ty 50,000 0 50,000
201 2Et24Hy| 12,000 0 12,000
01 AP 22| d| 12,000 0 12,000
OAl - MY A=A 2AHH| 12,000
206 M = Hl 38,000 0 38,000
01 =4l 38,000 0 38,000
O aeUdAAE H= L A 38,000
MY HAEH E@HE ML 61,000 0 61,000
308 XHXIEHSOIA 61,000 0 61,000




SN SSYAD
Mo JIEFEY HES L OF BN J|HnE
el JtEge =& (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 HIXNHHNBHNEES 61,000 0 61,000
OFME Hasty 2848 ML 61,000
gtds=2 23 - 2l 1,333,651 1,242,460 91,191
2 64,387
s 600,000
< 669,264
RARISE L2 NA(21) 40,600 86,420 A 45,820
= 28,000
< 12,600
308 XXM SOIA 40,600 86,420 A 45,820
=2 28,000
< 12,600
01 XML EES 40,600 86,420 A 45,820
SeARJIsS L2 N 40,600
= 28,000
< 12,600
20201 E43 +=H XN (=1) 36,300 12,540 23,760
2 16,500
< 19,800
308 XX EHHSOIA 36,300 12,540 23,760
= 16,500
< 19,800
01 HXNHHNBHEELS 36,300 12,540 23,760
©0Z1n2d0l s4dst+==H XA 36,300
= 16,500
< 19,800
2 RS2 22 B35 HE NA(=1) 43,751 0 43,751
= 19,887
< 23,864
308 XX EHH SOl A 43,751 0 43,751
= 19,887
= 23,864
01 HIXNHHNBMNEES 43,751 0 43,751
/I - REs2 x2S H8 N 43,751
= 19,887
= 23,864
sS2EsdH X4 XA (=) 1,020,000 1,020,000 0
s 600,000
< 420,000
403 MHXISHHE X201 E 1,020,000 1,020,000 0
s 600,000
= 420,000
01 XX S22 = 1,020,000 1,020,000 0
O=s=E23HH 4X K& 1,020,000
s 600,000




SN SSYAD
Mo JIEFEY HES L OF BN J|HnE
te: Bl sEsE B - 2el (e H)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
| = 420,000
SIsE E5 - 22 A 108,000 100,000 8,000
202 o4 | 8,000 0 8,000
01 2L I 8,000 0 8,000
Os=2=2sge =4 8,000
308 XAHXIGH SO0l & 100,000 100,000 0
01 AIKSHHENEXZ 100,000 100,000 0
oORIIs=2 252 100,000
BtAsS=2 SEM X 3,500 3,500 0
308 MXISHHMSOIA 3,500 3,500 0
01 HXHHIMNEEXS 3,500 3,500 0
ottedis=E2 SEHM XNE 3,500
2020 SH3 MY 40,000 20,000 20,000
308 XX SHAHSOIH 40,000 20,000 20,000
01 AIXSHMEMNEX= 40,000 20,000 20,000
20240 43 ALY 40,000
AN -2 SSESHEH AMEME A 30,000 0 30,000
403 XS HS K0l & 30,000 0 30,000
01 XIS A2 X 30,000 0 30,000
OAN -2 SSESHE AEIA AFY 30,000
BtAS=2 U s& ZH FA 11,500 0 11,500
201 et Y| 11,500 0 11,500
01 AP 22| d| 11,500 0 11,500
O=EEZ2 H&E S 11,500
SAE M -t Y B8 1,098,750 807,416 291,334
= 5,250
J| 532,680
=} 560,820
CEAANH o1AHH XN (2D) 767,800 670,000 97,800
J| 460,680
o= 307,120
307 2I2t0| ™ 767,800 670,000 97,800
J| 460,680
= 307,120
02 QI2tAMAIE E X 767,800 670,000 97,800
OE=ZHAH o1AH| 767,800
J| 460,680
& 307,120
= AME HACCP HA&EE(Z21) 82,800 50,416 32,384
J| 72,000
& 10,800




AN SSEIM
Mo JIEFEY HES L OF BN J|HnE
SRl BAZ M- WS BB CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 82,800 50,416 32,384
J| 72,000
< 10,800
01 HIXNHHBHNEELES 82,800 50,416 32,384
O=4&3 HACCP A& E XI& 82,800
J| 72,000
< 10,800
S4sI - SASHHE HACCP XI& 69,650 76,500 A 6,850
202 044l 8,000 0 8,000
01 = LH o4 1l 8,000 0 8,000
OHACCPAIE HE2 =& (bl 8,000
403 A X EHHS =0l A 61,650 76,500 214,850
01 X EHHMA=LE L 61,650 76,500 A 14,850
S&sI - SASHHE HACCP XI& 61,650
NXEH SHSUEAMLARY 22 (2 D) 10,500 10,500 0
= 5,250
< 5,250
301 et d s 10,500 10,500 0
= 5,250
= 5,250
12JEEd=S 10,500 10,500 0
OXXIHH FHSMASALZARY 2L+ 10,500
= 5,250
< 5,250
E=E - IIESE 44 HE ALY 150,000 0 150,000
403 MHXISHHE X201 & 150,000 0 150,000
01 XM A=2EE 150,000 0 150,000
OL=Z - I MEH HE At 150,000
IMHFHY ARD MEAHSIH HHELE 2ot 18,000 0 18,000
308 XtXIEHHSOIA 18,000 0 18,000
01 AXHHILEES 18,000 0 18,000
OFIMHFHA ARE MSHsIH A 235 18,000
HH2IZH(SSLAL) 34,905 33,960 945
Jl=&l 34,905 33,960 945
2A2Y Jl23tl 34,905 33,960 945
201 Let24d] 22,905 21,960 945
01 At 22l 22,905 21,960 945
ORA2Y AtR2eltl 22,905
202 Odl 9,000 9,000 0
01 = LH 4 di 9,000 9,000 0
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